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Obtenga: AUBC, P(A), B-A y #BnNA) si A={2,1,9/4} vy
B={z €Z/x®+2z* +x =0}
Asuma que el universo U = R

(60 puntos).
Solucioén:
Se tiene que A = {1, 2,9}, pues Vi =2
Por otro lado, B={z € Z/x* + 22> + =0} = {x € Z/x(z* + 2z + 1) = 0}

={ze€Z/z(z+1)(z+1)=0}={zx€Z/z=0,z= -1} ={-1,0}
Luego A°=R—-{1,2,9}y B°=R—-{—-1,0}

a) AUB°={1,2,9)UR—{—-1,0}=R—{-1,0} [_]

b) P(A) = {0, A, {1}, {2},{9}, {12}, {1,9}, {2,9}} [
c)B-—A={-1,0}-{1,2,9) ={-1,0} ]

d) #(BN A°) = #({ - 1,0} NR - {1,2,9}) = #({ - 1,0}) =2 []



